
Q16) Analyze the strings of length 6uiess regular set represented by the regular expression (01 0)"(00 + b)

01000
(a) 0100

(6) 00011 All of the above.

Q17) Analyze which
Oofthe following regular expression isequivalent to 0"(O+1)*

a) 0 1 c)(01) I None of these
b)0+1

Conncct thefollowing statement with theoptions:
Statement: All suitably tengthy words in a regular langunge cen nave 3 middie piece ofwords repeated several timestoform
at alsobelongs to the same language

(a) Turing Machine (6) Arden's theorem Pumping Lemma (d) Noneof these.

Q19) Analyze which ot the following statements are true.
a) Uinder infinite union, the classofregular languages is closed.b) ifLIU are regular then both Lt and L2 must be regular

(a) aonly 6 bonly ()Botha andb Neither a nor b

Q20) Analyze which one of the following can be apumping iength (the constant guaranteed by the pumping lemma) for L ifthe regu=
anguage L xp3-n orxqll-l3n, n20) 15 tor 9(a) ( (C) 10

COsQ21) Tdentity the language generated by the following Grammar
S

P->a

(ab)
(c) (ab

(6) (ab)
one ot these

cOL 12
Q22) There are tuples in Grammar

(a) 3
coL

Q23) Agrammar G (V. TES) in which Vis

(a) Set of variabies Set of variasles md noe aemals (d dactioa nule() Sct ot terminals

COl

Q24) Regular Grummar is also ealled

(a) Type 0 (6) Type 1 e 2

L2

Q25) The set of all strings that can be derived from a grammar is said to be

Language (6) Variables (e) Prodaction rele Noneaf tbee

Q26) Which of the following relates to Chomsky hierarchy?

(a) Type3<Iype 2<1ype I<Type0

(c)
CSL<Unrestricted<CE<Regular

6)
RegularCFL«CSLewticnd

9 Both A and B
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Q) Determine the number of states in DFA that accept the following langunge I- (a" b |n, t

a) 2

C)
cO1, L2

tne the umber otstrings of length less than 4 contains the language described by regular expression XT

b) 9
(C) 10 cot. L2

Q3) Detemine the number of states fora minimum DEA that accept the language I-{whw has 10,1}, that are divisibie by 3 and5

(c) 10
(d)9

co1 2

Q4) Representaionof the output ot mealy machine format is:

Oplt)- 6(Op(t))

(d) Nonc of the above mentioned

Op(t)-8(Op(t)i(t)) Op(t):
cO

Q5) ldenti5 the transitions which takes without consiuming any input symbol

(a) D-transitions -transitions -transitions&A-transitions (d) None of the above

cOt, L2

Q6) ldentiff from the foliowing thatcht u oaNIA can be stimulated by DFA

(a) Depends on A (5) Never Always (a) Sometine

coi, L2

Q7) ldenti5 from tbe foflowing that wil,potaccepied by the givnn DFA?

https://github.com/sauravhathi/lpu-cse



abbbaabb

ababaabaa
abbaabbaaQ8)Findthereason

thatwhy thestringWWR
isnotrecognized

byanyFSM2(WRisth

(8) AFSM cannot
remember

firstandlastinputs
(b) AFSMcannot

matehww

(d) AFSMcannotremember
arbitrarily

largeamount
ofinfonmation

Q9)
Chooseanyoneoption for thelanguage

that isaccepted
bygven NEA.a

gs containing 101 (b) aill strings start with 101 () all strings end with 101

cO1, 12
Q10) Determine the right option from belovw for statement I and 2.Statement 1: All DFA are considered as NFAStatement 2: All NEA are not considned as DFA

(a) Statement 1 is wrong and Statement 2 is corect(c) Statement 1 is coTect and sStatement 2 is wrong
(6) Statement 1 and 2 both Wrong
Statement I and 2 both Correct

cO1. L2Q11) Represent the following set by regular expression

(wE la,b} | whasatmosttwo a's)

(a) bab +b*ab"ab (b) b+b*a"b"+b*a"b"a"b* (c) ba"b*+b*a"b*ab* bb ab+b'ab'ab

cO2 L4
Q12) The set ofallstrings over {0,1 haveing 0011 as a substing is represented by(a)01*0101(0+1) (6) 01*010101 (O+)"o101(0+1)

(d)(O+1)*010101

c02. L4
(a) (a+b)"a(a+b)°b(a+b) (atb)"ab{a-b)* (6) (atb)"ab(a+b)"+b'a" " (a+b)* (c) (ab)a a(ba)* Alt efthe abuve

L4CO,

Q13) Which ofthe following expression is tnue?

Q14) Which typeof the following language is represented by regular expression?Type 3 language tb) 1ype 2 1anguage (CType 1 lainguage (d) Type 0language

CO2,14
Q15) Analyze which of the following statement is true for w e (a,b}* | wisba"+a").

al Starting with one b and having no other b's or having no b's but onlya's
(b) Having no b's but only a's

Starting with one b followed by a's.
(d) None of the above.

CO2. LA

https://github.com/sauravhathi/lpu-cse



Q27) Whichofthe following string is generaiod by the grammar S>0xY
X-0X/0 Y

d) 1001

01

co, 12

001

Q8)Whichofthe following stringsdonot belong thegiven regularexpressionp*(ptqpx)?

a)

PPOP XPX
b) PAP

P

co1, 12

Q29) Which type of grumimar is it? S Sp4, 3

Let linear Grammar (b) Right 1inear Grammar (c) Left and Rightlincar (d) All oftheabove

cO1, L2

Q30) The grammars in which all of the rules contain onlyone non-terminal on theright-hand side is called

() Len Linear Girummar Right 1Linear Grammar (c) Let and RghtLincar Grammar (d) Linear Grammarar

CO, 12

-End ofQuestion paperhttps://github.com/sauravhathi/lpu-cse


